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// bps(bits per second)
@ bpsE 29 AFEE HE Folct. 30bpst= 12 &<tel 30bit7t HEHt.
@ 1 kbps= 1,000bpse]™, 1 Mbps= 1,000,000bpse]t.

// baud(22)
@ baud= A7 Al W2FE olgsto] HE £ SHsk= Tefolth
@ 1 baude H ¥2PF 12 181 dojub= A& ofn|gich

- 1H]EZ} shute] Ao o922 ARGEW baudi= bpset 2t

- 24| EZ} shte] A 9z AMBEH baud &= bps £&9] 1/20]0h
® A2 A% &= B2A F 9 F=F 8ol bps TS ARSI

[@Id 1] 100baud, 8-FSK 4l¥9| HIEZ2?
[Z0]] 2° =8 0|22 8-FSK AT & shte] Ao} 3H]
. HE& = 100 X 3 = 300bps
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[oI® 2] 40,000bps, 16—FSK Al¥o| H9 Q0?7
[Z0]] 2' =16 ©]E& 16-FSK A3 4H|E7} 17]9] A5 Q4of o5 HsHct
S Beg = 40,000 / 4 = 10,000baud

[cldl 3] #E HIE(quad bit)& AF23s091 1800 baudQl HE £EE XL GHO|EHQ| AT
£&2£7 [20061 7371d8%]
@ 7200 bps @ 5400 bps
® 3600 bps @ 1800 bps

[8141] A= HIE(quad bit; 4 bit, Y% LIL)
L HlEL 1679) 280l FF5E 4ulEo]d,

-4 MER BE 4 e 16709 27 F0) g oSl g

- shte] 4157} g Wol @ HIEZL ok = H|E W)z Fsshech
L2, Shel Alsst el mER Hastec

mpatA, A2 &2 = 1800 x 4 = 7200 bps
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